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Ovningsblad pa att byta till SI-enhet

Nedan finns ett antal métvérden som ej dr skrivna i SI-enhet. Skriv om dem till aktuell SI-
enhet.

1 km= 1 kg=

I Mm = lg=

I mm= 14 g=

I um = 3g=

I nm= 6 ug =
38 km = 6 mg =
14 um = 12ng=
0,4 nm = 1 cm’ =
2 Mm = 1 km® =
16 Tm = 1 mm?=
0,8 Mm = 1em’ =
800 km = 1 km’ =
8ns = 1 mm’ =
12 us = 14 cm® =
0,01 ms = 6 km” =
4 kN = 9 mm?® =
0,6 MN = 14 cm’ =
0,6 mN = 6 km’ =
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Facit

lkm=1-10° m

1 Mm=1-10° m

Ilmm=1-10" m

lum=1-10"°m

Inm=1-10" m

38 km = 38-10° m

14 um=14-10"° m

0,4nm= 0,4-10" m

2Mm=2-10° m

16 Tm=16-10" m

0,8 Mm = 0,8-10° =8-10° m

800 km = 800-10° =8-10° m

8ns=8-10" s

12us=12-10" s

0,0l ms= 0,01-107 =1-10" s

4kN=4-10° N

0,6 MN= 0,6-10° N

0,6 mN=0,6-10" N

1 ton= 1000 kg =1-10° kg

lkg=1kg (luring)

1g=110"-10° g=1-10" kg

14¢g=14-10"-10° g =14-10" kg

3g=3-10"-10° g=3-10" kg

6ug=6:10°g=6-10"-10° g=6-10" kg
6mg=6-10"g=6-10°-10° g=6-10"kg

12ng=12-10" g=12-10"2-10° g =12-10 "% kg
lem®=11em-1em =110 m-102 m=1-10" m?
1km>=1-1km-1km =1-10° m-10° m =1-10° m?
1mm’=1-1mm-1mm=1-10" m-10>° m=1-10" m?
lem’=1-1em-lem-1em=1-102 m-102 m-102 m=1-10"° m*
1km’=1-1km-1km-1km =110 m-10° m-10° m =1-10° m’
1mm’=1-1mm-1mm-1mm=1-10> m-10= m-10~> m=1-10" m*
l4ecm*=14-1em-1em=14-107 m-102 m =14-10" m?
6km’>= 6-1km-1km=6-10° m-10° m =6-10° m>
Omm’=9-1mm-1mm=9-10"> m-10> m=9-10"° m>
ldem’=14-1ecm-1em-1em=14-102 m-102 m-102 m=14-10"° m’
6km’=6-1km-1km-1km=6-10° m-10° m-10°> m =6-10° m*

Omm’ = 9-1mm-1mm-1mm=9-10" m-10> m-10> m=9-10" m’



